= (W
H = 0l &F AF 2 Z Al A
20008 &= 20lA FUHHSHSELSH
2AM: XEE M
M NSHH A
ol = IANENEH(FUHE2IESLESA) (ctel. &2
_ _ PG ==
2N -3 - c2(3H) - NEME - HES Ol & oﬁwa Hns
XS Z M 618,921 370,000 248,921
IME=3-P~ ] Pl 618,921 370,000 248,921
F - HXNENMEE(FEUNE2IELESA) 618,921 370,000 248,921
CAS XX Ao 3,000 3,000 0
201 LEtdH| 3,000 3,000 0
01 AR 22|l 3,000 3,000 0
< dut=2H| > 0
o LAYXIXY Aol
50,000 = 5CH = 12& 3,000
S DN i = 38,639 28,548 10,091
101 Q12| 21,839 10,548 11,291
10 JIZHZ2=2XNsSES> 21,839 10,548 11,291
o FHICE 22 32,850 * 49 =150 19,710
o 48 = 19,710,000 * 10.8% 2,129
201 B9y 13,600 14,800 A 1,200
01 AtR222/dl 13,600 14,800 A 1,200
< dut=2H| > 0
o FHXIOHHEXIE K& 100,000 * 80IH 8,000
o NESHHAHA EEZEME 500,000 * 23| 1,000
< Ol=Hl > 0
o FHI EMRA 2RE IS
150,000 * 69 = 23| 1,800
< 2H| > 0
o SYEFAEX U 2 JHEd S
7,000 * 2% * 200 2,800
202 O4Hl 3,200 3,200 0
01 =2LHOHI 3,200 3,200 0
o EYEFAEX o5 & NEHied S
20,000 * 2Y¥ = 80 3,200
s MGeE fSud 25,151 32,643 AT, 492
201 B2 Y| 25,151 22,095 3,056
01 ArR2t2|bl 17,771 18,675 A 904
< dut=2H| > 0
o NsXUEig DXA 70,000 * 208+ A 1,400
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INREDN I
wsdHy Hd
F - ENENHE(FUHE2HSLH) 2 HE)
_ _ PG ==
SN B S2(BH) - HRAY - BES ko4 Ol & o8 HluSZ
o MUSHMNEHZE DA
70,000 * 209t A * 35 4,200
o FFXRAL AdANE & BHEHZ DKM
1,290 = 30A » 23] » 12& 929
o ANSASES 100 = 30, 0000HK 3,000
o IsSXedz SEA 65 = 30,0000H 1,950
o NSNS AR (YR, 29)
60 * 60,0000H 3,600
o ZglH EXH 2,692
MALHBEHZDXNA ESEHE S|
150,000 * 1CH = 20H 300
242 FTE(H SCHP-4280)
173,000  2CH * 20H 692
S5 =& (OH=L0P-6280K)
154,000 = 1CH = 20H 308
282 =S (& EM-8065)
252,000 = 1CH = 20K 504
Aot FX 2t T2l e JI(THISTCP-2
012G) 888
SHE 114,300 = 24 229
=] 219,500 = 37K 659
02 =324 7,380 3,420 3,960
<3323 % HMHAl > 0
o NSAEAF HHEA 70 = 30,0000H 2,100
o AISA &d fER=S
220 = 2,00000 = 123 5,280
()= =] 552,131 305,809 246,322
801 oldlbl 552,131 305,809 246,322
01 0olidlH 552,131 305,809 246,322
= 0idlgl 552,131,000 552,131
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